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Math Crossword Puzzle

3

ACross

4. 0.48 as a percent

6.13x 15

10. 572 +772

14. 5/6 divided by 1/6
15.9b +4f, b= 5 and
f=3

16. round 11.3 to the

nearest whole number
17. 11% of 600

18. unit rate of 273
cherry pieces in 7 bags

19. LCM of 8 and 12
Down

1. 7a+ 8g, a=9 and
g=7

2. next term in the
sequence: 76, 68, 60...
3. 2.5 as a percent

5. Round 194 to the
nearest ten

7. 3 less than the
product of 5 and 6

8. GCF of 60 and 48
9.22+3+17
11.4/6 +2/6

12. 8(3+1)

13. Ratio 42:54 in
lowest term
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